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07;-3. fa ercise J: Consider the following codes:
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{& v The maximum of Entropy is U’}L:}:% ?/:ﬁu-i:-iﬂﬁ\mt/ﬂug ...................
T3V The InValid 008e IS 2o e e ee e e aeaaens i 0 55 S ,
O ¥  The efficient Shanron Fano codeis: .c.......... and it’s variance is : C‘,;..,()fg.{e".;:\b C= .g.éé
{3 v The efficient Huffman code is : .M\o..... and it’s average length is : ....&u;z)é.hw»xij
{& Y The least efficientcodeis: .... ..., and it’s variance is 56-5‘?}3&-26-@:-9/-9-1 ...........
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¥ Consider a Hamming code, and fill in the tables below?

Received code word Ci Corrected code word Ci
1jof1{1/o0f1[1J]40A A4 0A4
Information : e JCOGQ“;rdiC’ ojojofof1{1{0jo 0@ o 4 4o
1.1 11001 1 ojojo 1[1j1jo1[1[1|AAADAAA
Olllollllé:O‘g 1{1fojofl1]lo]1 ) A 0 04
o 1 o 1]Jo 1 01 11 Gs 1jof1/ojofo]1 CA 0o -
o 1 1 oJol1/1/0/0/4 i1 1/ofoTAIA A4 A A
1. 6 6 0ojJAi0 000 11
t1ieltl1f1jelt]|1|0O]l1|O




Amiversity wasdi Merbak of cuargla

B ‘ ‘ Jansler 2024
SESY o naw teshwologies for information and communication B
2023/20:
| DEpartment of Blactronics and Telecommunications : i
. Farld KADE
Master 2 S3: Blectronics ot Embeddea systems
L 45 miln

€EXRM®

07 fx ercise 1: Considerthe following codes:
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&> v The efficient Shannon Fano code is - .. O .. ,and it’s variance is :L’f‘./.:,.or@{.i,&. =2.C=..0%6(
{3 v The efficient Huffman code is : oo, and it’s average length is : (au:%,ék‘mt]mgg
{& v The least efficient codeis : ...... C.....,and it’s variance is : 6%‘}317‘ =2 ;:...13.,9 4.
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v Consider a Hamming code, and fill in the tables below?

Received code word Ci Corrected code word Ci
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